TIWRAIYR CTSHit Y=Wos507 v=ILJUutvy

X P30T-1 TILVATYR EIFEIYTC30 EJ%:TPR2030 I-30
X :P30TB TPR2030 I-BT30
Wit - EICETE TS WESBICIRABY T
ZENHFEET, BREETTY,

W 80mm, S&140mm. W “-BT30” 1+#:13BT
BiT120mmaD /87 A TONETTY

FMFAXTY, 0y 7§31 TY,

REFBRIAPMEY RERABRIAPMEIARINF (SA)

I9—=3VbY=IVAIYa

REAEZ(T ’

S RIHABIIDEHHPVIVNY
TICE>THYETDT.V—
IWDEEZERFL . IENEE
DREIDEPVET,

S RIFAEXY (APMED (14F
ATBERTY R ITEXTF
Y,

@7.0MPax TOEET—F>b
XIS HRET

L e IS WO ET
CSHE! (REHARL(1T) &
CSEE (REEEZ17) 1°H
UET,

®7—5> b —IVLZ9Y) 1 (CSE
EI CSHE!) (H4FFHTBRTY .
BETEXT AL,

REEESIAT

BRTHBRY-J—5UbY—)VATYIBER
RamERy

BEETIAME APM

QRIHBZ VA R/NF (SAED
34T B R T BRI
XTFEW,

I=S M= IbAOVUa—RRINF (CS)

L B A W S EY:: P8
/N (CSEY) (345RHTB AR TY
BETEXTEL,

T—FhI—ILRY)2 o e o E
(RSEEL1T) (RSAELA1T)
CSE CSH
A 2/NF A ZINF

SGC 6 M8X0.75 APM 6 SA 7/8 CSH 6
APM 8-1
SGC 8 M10X1.5 APM 82 SA 7/8 CSE 8 CSH 8
APM10-1
SGC10 M12X1.5 APM102 SA10 CSE10 CSH10
APM12-1 CS25 CS25
SGC12 M14X1.5 APM12.2 SA12/13 CSE12 CSH12
APM16-1
SGC16 M18X1.5 APM162 SA16/20 CSE16 CSH16
APM20-1
SGC20 M22X1.5 APM20-2 SA16/20 CSE20 CSH20
HGC 6 M8X0.75 APM 6 SA 7/8 — CSH 6
HGC 8 M10X1.5 AREMIC] SA 7/8 CSE 8 CSH 8
i APM 8-2 Cs25 CS25
APM10-1
HGC10 M12X1.5 APM102 SA10 CSE10 CSH10
APM 7-1
NDC7,NDC7S M8X0.75 APM 72 SA 7/8 CSE 7 CSH 7
APM10-1
NDC10 M12X1.5 APM102 SA10 CSE10 CSH10
APM13-1
NDC13 M15X1.5 APM13-2 SA12/13 CSE13 CSH13
APM13-3 CSs25 Cs25
APM16-1
NDC16 M18X1.5 APM162 SA16/20 CSE16 CSH16
APM20-1
NDC20 M22X1.5 APM202 SA16/20 CSE20 CSH20
APM25-1
NDC25 M27X1.5 APM25.2 SA25 CSE25 CSH25

HARWEDYAXICEBELEVIHER S OHNET  AMADEARE T TS,



